
1) Increase 120 by 1/20

Answer: ____________

2) (4 x 55) - (5 x 49)

Answer: ____________

3) Find the percentage change from 5 to 9

Answer: ____________

4) 55 ÷ 5

Answer: ____________

5) 16/2 + 9/10

Answer: ____________

6) Find the percentage change from 5 to 
20

Answer: ____________

7) (-83) - (-11)

Answer: ____________

8) 9/134 of 268

Answer: ____________

9) 'What is the probability of rolling a 
number less than 2.when rolling a dice

Answer: ____________

10) 6/
9 ÷ 8/10

Answer: ____________

11) (-1) x 29

Answer: ____________

12) 252 ÷ 18

Answer: ____________

13) 252 ÷ 18

Answer: ____________

14) 96 + 46

Answer: ____________

15) Convert the following improper 
fraction 35/8 + 13/6 into a mixed 
number

Answer: ____________
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16) Find the mode of the following set of data:

22, 22, 22, 20, 20, 4, 4, 4, 4, 38, 38

Answer: ____________

17) Write 0.006 in standard form.

Answer: ____________

18) 29 x 100

Answer: ____________

19) Write 30 in standard form.

Answer: ____________

20) 5 x 100

Answer: ____________

Total: ___ / 20
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Answers:

1) 126 2) -1298220 3) 80% 4) 11 5) 89/10 6) 300% 7) -72

8) 18 9) 1/6 10) 5/6 11) 12) 14 13) 14 14) 142

15) 51/8 16) 4 17) 6 x 10-3 18) 2900 19) 3 x 101 20) 500
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